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Consider first digit of no. given on Question Booklet and OMR sheet as 1 insted of ‘0’.
Example : If no. indicated on Question Booklet and OMR sheet as ‘001234’ then candidate
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Do not open ’a‘;is booklet until you are asked to do so.
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY
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1. Please write Seat No., Category, Question Booklet Series and Sub]ec
~ on answer sheet (OMR Sheet) without fail.

(i A2 o>, 3208, st sysde Aoy A [@dua yaustadd R sidua
Act-l ojet 4912 @vil.)

2. Each question carries 2.0 marks. Questions 1 to 65 will carry 33%
(1/3 Marks) negative marking for wrong answer and more than one
answer in one question. Questions from 66 to 75 do not carry any
negative marking for wrong answer.
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3. You have to mark (@) the right alternative (a or b or ¢ or d) for each
question in the answer sheet with Blue / Black ballpoint pen only.
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4. Rough work, if any; be done on the last blank page of Question Paper.
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5. In case of confusion in Gujarati Question, rely on English Qﬁestion.
English text will be final.
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(i) “no frill” account for retail purpose;

(ii) - simplified KYC (Krnown Your Customer)
(iii) Credit counseling centre (GCC) facilities;
(iv) use of NGOs and formation of SHGs;

(v) Kisan credit cards services and
(vi) extension of Smart cards.

The Finance Minister in his Budget Speech of 2007-08 aiso iaid down provisions for
funding of financial inclusion goals. The Rangarajan Committee aiso speit out priorities
for meeting financial inclusion objectives. Two of the more important approaches in
the recent times inciuded the use of technology such as smart cards and mobile |
telephone banking. The potential for their spread can be vast especially in combination
with banking correspondence approach iaunched recently.

In addition, new competition and entry also piay crucial roles, as is evident from the
 giobal experience. Two particular initiatives have included the role of Micro Financial
\ | Institutions (MFis) and Non-Bank Finance Companies (NBFCs). MF] activities have
Il surged in recent years, but has come under scrutiny and regulation. Services expanded
at a fast rate, providing access on batter terms than alternatives of traditional money
ienders. However, better regulations is also needed. On NBFCs, gold pawn
establishments have also provided alternate access and are fast expending in urban
and semi-urban settings. As far as caps on interest rates are concerned, as in case of
other products, “subsidies” in the form of low interest rates are often an inhibitor of
access to services because of rationing and misuse.

Financial Literacy:

Any policy initiative seeking to afford greater access to financial services to a large
segment of the population must necessarily address bridging the existing knowledge
gap in financial education and literacy. Over the iast decade or so, researchers ail over
the world, especially in the developed countries, have, therefore, started to study and
explore whether individuals are weli-equipped to make financial decisions. Financial
education and iiteracy assumes urgency in any given scenario.
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According the passage, double-paned windows

(a) Are energy efficient.

(b) Should only be used as replacement windows.

(c) Should only be used in new additions to homes.

(d) will iower »your heating costs by 50%.
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Passage 7
Read the fdllowing passage carefully and answer the question 20 to 22 given below it.

The ultimate objective of development planning is human development or increased
social welfare and well-being of the people of a nation. This goal is also important
hecause the sustainabiiity of the development process hinges upon the quality of life
enjoyed by the people. A healthy and educated population leads to increased
productivity which, in turn, can contribute effectively to output growth. Development
strategy, therefore, needs to continuously strive for broad-based improvement in
standards of living. High growth is essential to generate resources for social spending.
However, the fruits of growth need to be shared equitably among all sections of society.
Especially; it needs to be ensured that the weaker and disadvantaged sections are not
left out of the benefits of growth. The inclusive growth strategy being pursued in the
Eleventh Plan has this very objective as it aims to ensure that higher growth of the
economy helps overcome the problems of chronic poverty, ignorance and disease.

As per the United Nations Development Programme (UNDP) Human Development
Report 2009 (HDR 2009), the Human Development Index (HDI) for India in 2007 was
0.612 on the basis of which India is ranked 134 out of 182 countries of the world
placing it at the same rank as in 2006. The HDI is based on three indicators, namely
GDP per capita (PPP US $), life expoctancy at birth, and education as measured by
adult literacy rate and gross enrolment ratio (combined for primary, secondary and
tertiary education). The value of HDI for India gradually increased from 0.427 in 1980 to
0.556 in 2000 and went up to 0.612 in 2007. The movement of the index vaiue in some
of the comparable countrles indicates that improvement in HDi in India in recent years
_has been better than in most of them.

This trend Indicating Improvement in the HDI powered by per capital income growth
for India is heartening though there is no room for complacency as India is still in the
Medium Human Development category with even countries like China, Sri Lanka and
indonesia having better ranking. India’s HDI rank by six notches, indicating that our
human development effort still needs to catch up with the Human Development, Poverty
and public Programmes progress made in GDP per capita. The existing gap between
the health and education indictors of India and those in the developed world an even

many developing countries needs to be bridged at a faster pace.
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20. | Which one of the following is not one of the factors which are considered for
determining the Human Development Index (HDI)?

(a) Infant mortality rate

(b) GDP per capita

(c) Life expectancy at birth

(d) Education as measured by adult literacy rate and gross enrolment ratio.
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Passage 14

Read the following passage carefully and answer the questions 63 to 65 given below
it. :

Education is for life, not merely for a livelihood. So long, we are unmindful of this
truth, the quality of our educational ¢urriculum as well as that of our teachers and
students is likely to remain inadequate. It is not enough for a society to have experts.
It needs human beings who can think, feel and act generously, the kind of people who
cannot be replaced by computers and robots. The great fault of our present age is its
emphasis on efficiency at the cost of humanity.

63.

The author says that it is not enough for a society to have experts because
(a) Experts are egocentric. o
(b) Expertdo not ha),le an.overyiew of things because of their being highly specialized

(c) Along with being efficient, educated people need to be sympathetic and sensitive
to the needs of the society.

(d) Experts are highly eccentric people

64.

The author is critical of the present educational system because it v
(a) Over emphasizes efficiency (b) Neglects social sciences
(c) Is science-oriented (d) Is obsessed with computers

65.

Proper human beings cannot be replaced by computers and robots because
(a) Computers and robots are non-human.

(b) Computers and robots react mechanically

(c) Only human beings can have specialized knowledge

(d) Only proper human beings can think creativeiy and act generously

66.

You have just writtenAvery important report for the company after putting in a lot of
time and effort. A senior and very respected colleague says that your report lacks
some important information, what is your reaction?

(a) Tell the colleague not to interfere in your work

(b) Trust in your colleague’s greater experience and make all of the changes he
suggests

(c) Give your apologies to the colleague and mention that it is impossible to add new
details due to time constrains

(d) Discuss the changes the colleague proposes and also why it is important to the
report and then make the changes if necessary
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